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w4 HH1:

4.11 x 50% = 8.82 x 50% =
3.13 x20% = 2.17 x 60% =
4.04 x 60% = 3.24 x 90% =
2.85 x 60% = 5.95 x40% =
0.79 x 50% = 1.77 x 40% =
3.33 x90% = 8.46 x 50% =
9.65 x 30% = 8.09 x 40% =
8.85 x 30% = 7.86 x 30% =
3.54 x 60% = 7.5 % 20% =

0.84 x 60% = 4.96 x 30% =
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A/ NEUR A 0 b

G

4.11 x 50% = 2.055

3.13 x20% = 0.626

4.04 x 60% = 2.424

2.85x60% = 1.71

0.79 x 50% = 0.395

3.33 x90% = 2.997

9.65 x 30% = 2.895

8.85 x 30% = 2.655

3.54 x 60% = 2.124

0.84 x 60% = 0.504

H -

8.82 X 50% = 4.41

2.17 x60% = 1.302

3.24 x90% = 2.916

5.95 x40% = 2.38

1.77 x 40% = 0.708

8.46 x 50% = 4.23

8.09 x 40% = 3.236

7.86 x 30% = 2.358

7.5%x20%=1.5

4.96 x 30% = 1.488
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